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2 A MOISE A
HE: AW (AUDDHE /AU )
Sl RIRHTANUIAHS CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— 2R 300,000 = 1Y = 23] 600
e 200,000& = 1H = 23] 400
- &d 100,000 » 1H x 23] 200
OQUAMHIA S 22 M Al&t 1,000
— X2 500,000& * 10 2 A 500
- 300,000& = 10 2 A 300
—&d 200,000& * 10 2 A 200
OA &E 2424 Al&t 4,000
— %2 700,000 = 200 £ A * 23] 2,800
-2 300,000 *~ 200 B2 A = 23] 1,200
OzE ad ST 2 22 Al& 3,000
— 2R 1,000,000& = 100 £ A 1,000
x 600,000& = 200 2 A 1,200
—&d 400,000& * 290 &AM 800
AEC20] &9 14,185 19,886 AN5,701
101 @121l 14,185 19,886 AN5,701
04 JI2ZtH22XNHEE =+ 14,185 19,886 AN5,701
OJAZL0| JI2ZH 22X B 13,885
—-JlE2= 69,7603 * 18 » 149 10,395
—F54 69,7603 * 19 * 34 2,372
—HREFIO=Y 69,7603 » 1H » 8L 559
- F=5dsE 69,7603 » 1H * 8L 559
OUATR0l JIZHM 22k 225 7
300,000& * 1H 300
NEg2a) 29 26,500 38,580 £ 12,080
201 et A | 17,500 20,580 A 3,080
01 AFR2t2l Yl 8,500 13,380 N4 ,880
OsSgsgY3a) Mg s8N 2 15)
2 50,000 * 2& * 258tA * 13 2,500
Osesdez) =gy EH 2¢
200,000& = 10CH * 23] 4,000
OsssgedZ) AHOEYH & 7Y
100,000& * 10CH = 28+ A 2,000
02 =294l 9,000 7,200 1,800
OSEsgL2I AIAE FX22]
9,000,000& = 10CH = 10/100 9,000
405 XH&kE S| 9,000 18,000 A9,000
01 JHMY =2 ZF SHI 9,000 18,000 A 9,000
OsesgEez) 2 9,000,000& = 1CH 9,000
LoplALIHT 2Y 36,752 86,960 A50,208
201 LEt2HY| 36,752 36,960 N 208
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SA - BB B () - MM - BES Ol &t o San HmEET
01 At 22l 12,200 14,800 A 2,600
OYZFcBE LU0IALTI| FSH ATE
200,000& * 14 200
ORYALI)| B8 S£8X 2Y
50,000& = 1204 ~ 123 7,200
OFololAwa)l Tl £ 7
200,000& = 1208 = 23l 4,800
02 3322l 24,552 22,160 2,392
ORQAWT)| SLUAHAAY 248
130,000 = 1A = 12 1,560
ORUUALZI B232= & HA
50,000& * 1A + 123 600
OReloiagdzgIl |X el
18,000,000 = 12CH = 10/100 21,600
OAEINELHI RANE =
5,500 * 12CH » 1204 & 792
(GaR=— 1,430 2,880 A 1,450
201 £B-2dH| 1,430 2,880 A 1,450
01 At 22l 1,430 2,880 A 1,450
O0HEYERE FH KA (AMU S)
300,000& * 3CH = 13 = 50/100 450
OGS e HA S0
100& * 3&Z « 1,0000H 300
Oz 28 ARES ¢
20,0004 = 28 = 123l 480
OANEE RV=SE 7¢ 400& = 50004 200
(2)0AAMNR HEZH X2 13,742 14,170 AN 428
= 13,742
101 @124 dl 13,742 14,170 A 428
= 13,742
04 JIZHHZ22XREE S 13,742 14,170 AN 428
OGS FMEY B ol
13,742,000& * 1H 13,742
= 13,742
()= HSEMNR A ZH XA 15,065 13,133 1,932
= 15,065
201 £B-2dH| 7,065 5,133 1,932
= 7,065
01 At 2t 2l 7,065 5,133 1,932
OAtS 2teltl 7,065
—ZgE EH #& 200,000& * 1104 = 23l 4,400
- 4,400
—SANEXN P2 16,000 » 112A « 123 2,112
= 2,112
—ANREEF 7Y 553,000& = 14 553
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M MOtSS At
B DN (AUDIHE/LBHE)
Hel: QFAFIANBIAMS (&)
SA - BB B () - MM - BES Ol &t o San HmEET
= 553
202 O4dl 8,000 8,000 0
= 8,000
01 = LHA YI 8,000 8,000 0
OINEZAHEEANR =2 UL 8,000
— 2t o4 dl 20,0003 = 11H » 5¢ 1,100
= 1,100
— 22 0 dl 6,900,000& * 14 6,900
= 6,900
QIAAMGEHH 24 268,448 271,828 A 3,380
201 L2l 36,314 39,734 N 3,420
01 At 22l 3,700 7,120 A 3,420
OSdH dHIE&=cltl 1,500
—=gJ 2l & EH uA
300,000& = 33l 900
— JIEt ZHl==cl 50,000& = 12& 600
O3JI8FI gtz 50,000& = 1CH = 12& 600
OBHE DIVASANYT SBIY 49
70,000& = 10Y = 13 700
O24H UAAEAIS A AFLF Ol
90,000& = 10 = 13 900
02 2324l 32,614 32,614 0
OBHE RUAHAAE 242
100,000& * 123 1,200
O=sdH &= 500,000& = 12& 6,000
OSHH S 300,000& = 12& 3,600
OBHE SXMHIA MEE
10& = 6,000 = 12& 720
OZ24H g AERE 40,000& = 123 480
OBHEH 22 RN
2,000,000& * 1002 2,000
O24H &AL RS 18,614
—AZEYN SANE+
142,500,000 * 12/100 17,100
—StE/AN X2+ 15,140,000& = 10/100 1,514
307 21201 A 232,134 232,094 40
05 BIZERIE 3 232,134 232,094 40
OSdH 29 QA& 232,134
— &g AL 2124 16,383,210& * 12&8 196,599
— AIAE 2 Xt 1,210,000& * 128 14,520
— 3 F= 1,751,200& * 128 21,015
MOlS2s 24 (g3 /duray) 571,550 735,660 A 164,110
< 27,300
544,250




EX: MOISE A
H: MOIS2S 4 (L2 2N /UBEA)
©e: 2pesHH 54 (er:@e)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
=02sHH 4 571,550 675,660 A 104,110
== 27,300
Al 544,250
20U 2N 21,000 27,000 A 6,000
201 et | 18,000 26,400 A 8,400
01 AFR 2t 2| H| 12,000 18,700 AN6,700
O=ZJ & Jt2)| DH(MOES e 5)
4,0002 = 5000H 2,000
OJizJlZ0ltl &Hul 15,000 = 2000H 2~ 3,000
O=02s 222 & 1,400
— &9 60,000 = 5& x 23| 600
—E8=2 1,000€ % 4= * 20004 800
Quolztol T I HI& 80,000& = 70H 5,600
02 2=2=24%H| 6,000 7,700 A 1,700
OMOtS3 &2 ASH| 200,000 = 123] 2,400
OMOIE23 2 Xl 3,000,000& = 1A 3,000
OMDIS4HIZ 2 ROAHIAIAE =42
100,000& =~ 6& 600
401 AIEHIZ 201 Y| 3,000 0 3,000
01 Al&H| 3,000 0 3,000
OMOISa & HIIUHAEEAH A (MITAES)
1,500,000& =* 23| 3,000
2002SCHH WX 53,220 64,330 A 11,110
301 et ™M= 53,220 64,330 A 11,110
09 HAIAHI X & 2 53,220 64,330 A 11,110
OMOISXIEXUg &Z4AXF oddl
90,000& * 27 * 23| 4,860
OMOISXIZE XS A==0H|
90,000& * 6Y * 10¥ * 23 10,800
O=02sHYH MOIL € BwEEA 04l
90,000 * 7¥H x 23] 1,260
OEQIZ3sstore &4 odl
90,000& * 9H * 13 810
Oott2iadiesgds =2 Ua &I ol
90,000 = 30¥ « 1¢ 2,700
OHtEAH A2 =SMMEE MM &I O]
90,000& * 30¥ * 13| 2,700
OHlEAHAD IS d=204dU3 =24 odl
90,000& * 30¥ 1< 2,700
OHtEAHA)Ies HA=ZHAHdUE &I oyl
90,000 = 30 « 1¢ 2,700
OHtEAaIIes dEUlg &4 ol
90,000 = 30¥ « 1¢ 2,700
OMOISEXNEX J20E 8,750




= ALt
S5 FHSH(YUTDHF/AVHE)
stHH =4 (&)
B SR (B) - KIRAY - BES Ol &t o San HmEET
— Ol 90,000& = 359H 3,150
— W=l 160,000& * 35 5,600
OMOIEXN & A 2l s 2,250
— 04l 90,000& = 9H 810
— W =Hl 160,000& * 9% 1,440
O=MZs2sE 1,250
— ol 90,000& = 5H 450
— W=H| 160,000& * 5% 800
OMEE IJiR=E IIZN= 1,250
— Ol 90,000& * 5% 450
— W=l 160,000& * 5H 800
OdIag FHZA 24 HE 2,500
— 04l 90,000& = 109H 900
— W =Hl 160,000& * 10¥ 1,600
OdFaAE 22X WE 2,500
— ol 90,000& = 109H 900
— W=l 160,000& * 10H 1,600
ODNwH EE=HNF 1,250
— Ol 90,000& * 5% 450
— W =Hl 160,000& * 5% 800
O=std SE+-ed 1,250
— Ol 90,000& = 5H 450
— W=l 160,000& * 5% 800
O21C MOtS /A8 04dl 90,0003 = 11H 990
SHH A XA 238,000 281,000 A 43,000
QI2tol & 238,000 281,000 A 43,000
QIZFAMAIEE R 105,000 163,000 A58,000
OMDOIS A8 WSXA(BXS 90%)
1,400,000& * 14 1,400
OGreen City =& A
2,300,000& = 30# EHA 6,900
OMOIS A OO0l X3 A
4,190,000& = 14 4,190
OSY¥sE MOt2HHd s#d3dsegds S (2
2 90%) 58,900,000& = 14 58,900
OMOIERESAH 2 XI&
2,000,000& = 14l 2,000
OttZ2AHAII2s =2Us 2 N (EXE 8
0%) 5,000,000& * 1Al = 80/100 4,000
Ott2 ssn=Z2ALEJs XA
2,000,000& = 14! 2,000
otttz H&sl SAeEs NI AY
3,000,000& = 14l 3,000




2N
X ZH -
L= B

el

N OHS = AL D
MOIS2S SH5H (LT TYT/LBET)
2p2SCl 84

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ott2AAIIgos I ENHEZ S NA(E2X8
90%) 22,610,000& * 14l 22,610
03 BIAHMNHE2IHIEE 133,000 118,000 15,000
OZ=AMOIS3 2ZHI(Ex8 FH)
100,000,000& * 14 100,000
Ott2AHdII2sI=AEAS 2LH(EXE
Ho) 33,000,000& * 14 33,000
=02HH AKX 23,000 20,600 2,400
307 gl2tol & 23,000 20,600 2,400
04 DIZHHALALSE E X 23,000 20,600 2,400
OMOIE H2&EIUs XA
3,000,000& = 14 3,000
OMOIZEXEX +=3U3s XNJA(EXE 80%)
12,500,000& = 141 « 80/100 10,000
OHIZAHAIIE S U NA(BZE 80%)
12,500,000& = 141 « 80/100 10,000
(£)21C Mots2s 43t 69,680 101,680 32,000
= 22,300
Al 47,380
301 LeBAF 7,000 9,000 A 2,000
= 3,500
Al 3,500
02 ¥et=stit= 7,000 9,000 A 2,000
OMOtSXNERIE Beg X
1,000,000& * 79 7,000
< 3,500
Al 3,500
307 21201 A 62,680 92,680 230,000
< 18,800
Al 43,880
02 It S AHE L 31,680 92,680 A 61,000
od=st23Atel BSIAY
24,000,000& = 14 24,000
< 7,200
Al 16,800
OYEZol SHMESALS 7,680,000& = 14 7,680
< 2,300
Al 5,380
03 QIAHMNHE2IHIEE 31,000 0 31,000
OMOIZ2S 23 2% X8
31,000,000& * 14 31,000
< 9,300
Al 21,700
MOtS2s HAHSHALY 150,000 164,400 A 14,400
306 A2 150,000 150,000 0
01 &3 150,000 150,000 0




EX: MOISE A
H: MOIS2S 4 (L2 2N /UBEA)
©e: 2pesHH 54 (er:@e)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OdilMOISAgEOlEe =4
150,000,000 * 14! 150,000
(S)HI2HADI2s 435t 16,650 16,650 0
== 5,000
Al 11,650
307 2Iz2t0| & 16,650 16,650 0
= 5,000
Al 11,650
02 QIZHEAAIRE E X 6,650 16,650 A 10,000
OHIZHAD |28 AEMEAA =3 1=
1,650,000& = 14! 1,650
= 500
Al 1,150
OHli2AH&l|Ies g x& 8435
5,000,000& = 1A 5,000
= 1,500
Al 3,500
03 QIZE X HAESIHIEX 10,000 0 10,000
OotizAHalies g4dst =8 29 N
10,000,000& = 14 10,000
o=t 3,000
Al 7,000
TNRAZEAHE 2 (2t 28d /2t y) 410,632 420,738 A 10,106
= 33,166
== 27,950
Al 349,516
AN SAIHEHESY 410,632 420,738 A 10,106
= 33,166
= 27,950
Al 349,516
A2 S AHE A S} 19,300 28,200 A 8,900
301 et M= 6,300 7,200 A 900
09 HAIAHI X & 2 6,300 7,200 A 900
OXNEEAX e b
90,000& * 30¥ » 1< 2,700
OXNISAI 24831E 28 /a5 &4 o]
90,0003 * 59 * 24 x 23| 1,800
OXNISAI E483E & gtetg 24 o]
90,000& * 10¥ = 1L = 23] 1,800
307 2I2t0| ™ 13,000 21,000 A 8,000
02 IZHB AAIE 2 X 13,000 21,000 A 8,000
OXNESAH Ot XNME XS
2,000,000 = 14! 2,000
OXSSA AES2SAE EAIEE XS
5,000,000 = 1A 5,000
OXNESAIAEH AAX &2 & &
2,000,000 = 14! 2,000




2N
X ZH -
L= B

el

MOtS S At
NEASAMUEYH 2 (L33

T o

TESAMUEH2E

g/d

02
rz
02

7(4)

(=}

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

OX& S AL OL2HAI0I XI& AH
4,000,000& = 14

4,000

10,000

12,000
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7,148,000& = 14

= N H

~N|IND = W N N — w N

,148

,148
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N — w

7,455

A 307

(I SA 2ZOUHOIEH X - =4

= N W

59,184
29,592

8,878
20,714

58,083

1,101

307 glztol &

= N W

59,184
29,592

8,878
20,714

58,083

1,101

OANZAESALEEH 2CIUOIH XI&
59,184,000& 14

= W

59,184

59,184
29,592

8,878
20,714

59,184
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1
rio
Ol
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o
o
02

= M

315,000

18,000
297,000

315,000

307 glztol &

Al

315,000

18,000
297,000

315,000

OSsE NEsAZzI]H 28 X
.0

00,0008 » 14
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Al

10,000

10,000

3,000
7,000

10,000
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L= B
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MOtS S At
NEASAMUEYH 2 (L33

T o

TESAMUEH2E

g/d

02
e
02

7(4)

(=}

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
05 RIZHRI & 3 305,000 305,000 0
OANZTHASAMUE 2F K&
305,000,000& * 14 305,000
< 15,000
Al 290,000
sty 2 (sF/XH) 43,810 56,642 A 12,832
fAetd 26 43,810 56,642 A 12,832
2SS sk 27,350 33,830 A 6,480
201 Let24dH] 17,180 19,130 A 1,950
01 At 22/l 900 2,850 A 1,950
ONQES o H2IN =Y 222 K 900
—s88H 100& * 2& * 1,5000H 300
— 8= & 60,000& = 2& =« 53| 600
02 =224l 16,280 16,280 0
OXNHLSASIELY 22l Y
12,160,000& * 14 12,160
OXHLSAGGHA S22l 40,0008 * 385 1,520
OHgsAlstEs ) 1,300,0008 * 2= 2,600
301 LEMZ 10,170 14,700 A 4,530
09 HALAHIX A S 10,170 14,700 A 4,530
OXEs T3l &It obl
90,000& = 30 = 1€ « 13 2,700
OXgeEs d=0Hal It Kl
90,000& = 30 = 1€ « 13 2,700
OF=TAHES MNOILL ¥ MEEZ It o]
90,000& = 10& = 12l 900
ONHESEHZE A% J|g4A FIt ¢l
90,000& = 30¥ = 12 2,700
OXHEd BUANEH A+=n=s It 0l
90,000& = 5% * 1& » 13 450
OXNHES2ERAAS It Ol
90,000& = 1& = 82l 720
ZEEZ 2= 16,460 22,812 26,352
101 @124l 11,860 18,212 A6,352
04 JIZHHZ2Z 2RSS E+ 11,860 18,212 A6,352
OFHAXT HMENY S SZHY 22y
69,7603 * 3Y * 15& * 23| 6,279
OHblY 2 Hisoy £ Ay
69,7603 * 5& x 58 23| 3,488
ORNHE L 25 224 A=Y
69,7603 * 3& x 5& 23| 2,093
201 Let24d] 1,200 1,200 0
01 At 22l 1,200 1,200 0




K- B S (3H) - MBAY - B il 2t
O=EUdEZ 838 ¢
2,000& * 3F * 2004 1,200
303 A2 3,400 3,400 0
01 ZAa2 3,400 3,400 0
OSHs =EUHIHZ2S AlA2 3,400
— %2 500,000& * 20 A 1,000
-5 300,000 * 40 A 1,200
—&d 200,000& * 6O A 1,200
HE2AALI (MOISS AL (D1EH/DIE) 71,978 72,872 N894
A Hl 71,978 72,872 N894
=&l 71,978 72,872 N894
201 Bt A H| 18,638 19,532 N894
01 AFR2t2l bl 18,638 19,532 N894
O=sAMEXN 7L 16,000 * 132 A = 128 2,496
OSZ20Aaldl 7,000& * Al x 13YH * 128 6,552
Ogbteg 100,000& = 12& 1,200
OL7AR T AHAFLH 50,000& = 12& 600
OAAR2 =44 7,010
— Z2A| %2l 1,000,000& = 1CH 1,000
— T2l %2 100,000 * 3CH = 50/100 150
— 2A EY 200,000& = 53] = 104 1,000
— TR EH(E8) 200,0008 * 53 = 3CH 3,000
— Z2E EU(Ze2l) 200,000& = 53 ~ 104 1,000
—PC =2l 100,000€ * 13CH = 20/100 260
— J|Et =2lH]| 50,000& * 12& 600
OJIEF AP 2t2l ] 5,000& * 13¥ x 12& 780
202 04t 49,140 49,140 0
01 2 LHOHI 49,140 49,140 0
ONDISEAMNL SRFX oYl 49,140
— ZHLH 04 B 20,000& » 139 * 12 = 12& 37,440
— 22/ 04 Hl 90,000 = 13% * 10¥ 11,700
203 ¥ R =&t 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
ORN2II2F&Y| 250,000& « 12& 3,000
204 &R = A | 1,200 1,200 0
01 XS RHAH| 1,200 1,200 0
OXMIADAHAY| (MOISEADE)
100,000& + 1Y = 12& 1,200




